
x
−s = xc

x
−c = − xs

xs2 + xc2 = 1

∨
0 < π < 4: π/2c = 0

m > 0 � 0 6
m

(−1)

(
xc−

m∑
n

n
(−1)

x2n

(2n)!

)
6

x2m

(2m)!

m = 1: 0 6 1− xc 6
x2

2

m = 2: 0 6 xc − 1 +
x2

2
6

x4

24
�

xc 6 1− x2

2
+

x4

24

2c 6 1− 2
2

2
+

2
4

24
= −1

3

π/2s = 1

1 = π/2s2 + π/2c2 = π/2s2
�

π/2s = ±1

x > 0: m > 0 � 0 6
m

(−1)

(
xs−

m∑
n

n
(−1)

x2n + 1

(2n + 1)!

)
6

x2m + 1

(2m + 1)!

0 < x 6 2: m = 1: 0 6 x− xs 6
x3

6

� 6 xs > 6x− x3 = 6− x2
Y [

x =
√

6 + x
Y [

√
6− x

Y [
x > 0 � 0 < π/2s = 1



x + ys = xs yc + xc ys

x + yc = xc yc − xs ys

1

2

2
x + ys− xsyc− xcys
X Z

+
2

x + yc− xcyc + xsys
X Z

= x + ys− xsyc− xcys
X Z

x + ys− xsyc− xcys + x + yc− xcyc + xsys
X Z

x + yc− xcyc + xsys

= x + ys− xsyc− xcys
X Z

x + y
−s −

x
−s

yc− x
−c

ys
X Z

+ x + yc− xcyc + xsys
X Z

x + y
−c −

x
−c

yc + x
−s

ys
X Z

=
∗

x + ys− xsyc− xcys
Y [ ∗∗

x + yc− xcyc + xsys
Y [

+
∗∗

x + yc− xcyc + xsys
Y [ −∗

xsyc + xcys− x + ys
Y [

= 0

�

2
x + ys− xsyc− xcys
X Z

+
2

x + yc− xcyc + xsys
X Z

cst
=

2
ys−

= 0

0s︸︷︷︸yc−
= 1

0c︸︷︷︸ysX Z

+
2

yc−
= 1

0c︸︷︷︸yc +
= 0

0s︸︷︷︸ysX Z

= 0

x + π/2s = xc

x + π/2c = − xs

x + π/2s = xs
= 0

π/2c︸︷︷︸ + xc
= 1

π/2s︸︷︷︸
x + π/2c = xc

= 0

π/2c︸︷︷︸ − xs
= 1

π/2s︸︷︷︸
x + πs = − xs

x + πc = − xc

x + 2πs = xs

x + 2πc = xc


